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=l 4,000
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2H 2 o Lt 467,170 529,876 ~62,706
=l 4,000
2 463, 170
Ao SFAY 22 186,322 258,842 AT72,520
3 4,000
2 182,322
RHBSY A 22 158,692 252,992 94,300
3 4,000
2 154,602
201 Yereg| 25,292 23,292 2,000
01 AFR2r2/Hl 25,292 23,292 2,000
Olge+gl] 25,292
ONMEZ L= DRy £
270,0002 * 3CH * 43l 3,240
OAE BDM R& 250008 * 1005 * 25 5,000
OZFAMER Sa2 P
30,0008 * 1347} 4,020
OJIEMBUHH ST MM
90,0008 * 1002 9,000
oz YD 7
7,008 * 3% = 165 + 128 4,082
202 01t 1,800 1,800 0
01 =Ly 01| 1,800 1,800 0
OSQ4AISZ ZF0H  180,0008 * 109! 1,800
203 YR=TY| 32,000 27,900 4,100
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ORFAMZAAS FFY|
32,000,002 * 14! 32,000
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O2LNSYB2S 80,0008 * 501 * 128 4,800
207 ALl 60,000 180,000 A 120,000
01 HRgY| 60,000 180,000 A120,000
OZEYLT DAY 2| 20,000,002 * 33 60,000
01 YPRAZ 4,000 0 4,000
3 4,000
10 BAAHIE A2 4,000 0 4,000
ONL A5 2% 4,000,008 * 14! 4,000
3 4,000
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01 =LA bl 1,200 1,200 0
OZZEI dFF& Kyl
300,000& * 402! = 13| 1,200
207 AN Y| 16,200 16,200 0
01 124l 16,200 16,200 0
O HAHZEZ T A 16,200,000& * 14 16,200
s -5 -2 g8 23t 58,500 59,865 A 1,365
=Y T -Z2FFH g2 L& 58,500 59,865 A 1,365
201 B2 H| 56,680 58,045 A 1,365
01 AtR2t2ldl 56,680 58,045 A1,365
Olgers=gHl] 56,680
O XL M= 20,000& * 50% 1,000
OFRYUSP AlHAHE MI MA
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O=&Ese S MZ
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OURANDYN U IZEE
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OZMNERFA Zely EH FY
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OZAI=Z MEES 7Y
45,0003 = 5&E * 83| 1,800
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2 ¥ Ay Yst
RxUY o2 25t (el &2
_ _ _ N E
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 Gl o bRz
RIETESE=TN 675
0SIYLET ARSE 2|
675,0002 * 14! 675
oleg+g] 3,500
CET-FINEE IR
10,0002 * 79! 53] 3,500
207 1oty 8,000 0 8,000
NR=EEET 8,000 0 8,000
OSAFHIXNIZINE HZEA 2lAX S|
8,000,008 * 13l 8,000
DRSO AE 743,028 622,379 120,649
EEXO (A2 743,028 622,379 120,649
Ol arE S 22 193,368 190,433 2,935
201 Lty 129,368 92,288 37,080
01 ALRelt] 129,368 92,288 37,080
Olggr+gyl] 117,132
020118 FZ0IAA O
20,0002 * 1005 * 33 36,000
020128 ZOI&A 214 120,002 * 150% 18,000
O20NMEZHOALTA UL 20126 20 A4
Mol 50,0008 * 502 * 43l 10,000
O2012HE CIAEA B ol
50,0008 * 1505 7,500
020104 B2 0IAA Ol
120,000 * 141.66% 17,000
ONTHEZAIZA Q14 50,0008 * 54 2,700
ogetxEs NYWENE 222
40,0002 * 150% 6,000
OZEIINLMEHE o4 50,0008 * 1505 7,500
OYAEFBSLUE 2
50,0002 * 75 * 203l 7,000
O0NMENAB ST MAEY SHIIE M
70,0002 * 4% * 53] 1,400
OHOIK TRIED| £ 297,008 * 63 1,782
OUAEY SABX 7
25,0008 * 908t A 2,250
oleg+g] 5,600
OSIRE (4H) M2
70,0002 * 821 * 108l 5,600
ol3zbl] 6,636
OOIAE SRR 2423 Al
7,000 * 30 * 22 + 83 3,360
OOIABI SR SATHA]
7,0008 * 491 * 1172 3,276
202 o1t 36,000 36,000 0
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oI 0x
Mo & Jor

2 A
X of &
Hol of 2

SN HB G (BH) - MRAY - BES Aro CEE Hlm= 2
01l & o8
01 =LA bl 36,000 36,000 0
ONBWHSY  BUHEAD (T - E2) L 9
ds&EA 200,000& * 102! = 183l 36,000
203 HRF&H| 12,000 10,800 1,200
03 AIMFXAHEF=EH| 12,000 10,800 1,200
OUAES U WESAAD ZaY
1,200,000& = 10& 12,000
403 XXM SK=01H 16,000 49,345 A 33,345
02 SIS0 CHStCH & AL E Yl 16,000 49,345 A33,345
OXME 22l A (e~hojo) R X 2teld]
16,000,000& * 14 16,000
Asygay ns=diA 305,660 222,698 82,962
201 LBt 46,850 45,000 1,850
01 AR 22| 46,850 45,000 1,850
O[fIgu=xdl] 46,850
O0Z2R& u=s A WS
468,500& * 10021 * 13 46,850
202 O4Hl 258,810 177,698 81,112
01 =LHO b 234,810 159,698 75,112
OXNYNS(ARAR2UEA46HUH) 134,500
oZF(HE=) 77,500
o1+ 400,000& * 80¢l 32,000
02%F 750,000& = 309! 22,500
03+ 1,150,000& * 209! 23,000
oZ=(g=s) 57,000
ol= 70,000& * 802! 5,600
02%F 210,000& * 302! 6,300
03+ 340,000& = 150! 5,100
03F 0N (BAHAELENH)
8,000,000& = 52! 40,000
OZEL NS (SRAAZAHATIN L) 100,310
O (Hlg=) 38,400
o1+ 430,000& * 30¢! 12,900
02 860,000& * 15¢! 12,900
o3 1,260,000& = 10¢€l 12,600
O3 (&=) 15,300
o1+ 200,000& = 309! 6,000
02%F 320,000& = 150! 4,800
03 450,000& * 109! 4,500
OME(HIE=) 33,710
ol= 420,000& * 202! 8,400
02 850,000& * 15¢Q! 12,750




L BPIEETION
Ha: SDXE MBS
o9l SEXO MUY (9l & 2
_ _ _ N E
SN-EHH . SH(BH) - HPAY - BE2 Ofl & o Gl o B2
03% 1,256,0002 * 102l 12,560
OMES(8=) 12,900
015 80,0002 * 202! 3,600
02% 320,002 * 150! 4,800
03% 450,0002 * 109! 4,500
04 =2RI5H01b| 24,000 18,000 6,000
920l DY HLAHA 4,000,008 * 30! 12,000
OJ| DEM HAHS 6,000,008 * 291 2,000
SRR BY 2UHel o4 189,000 158,248 30,752
202 OiH| 189,000 158,248 30,752
01 2Uioibl 99,000 78,248 20,752
O E XIS XX SR #IXI 01
280,0002 * 1002! 28,000
OABHMTY FA 350,0002 * 1002! 35,000
ONHZATH2AS AN
200,008 * 1501 * 123 36,000
04 2RI&H01b| 90,000 80,000 10,000
OMZXIMXIOFY GHOlSi4 4,000,008 * 591 20,000
OXNZOICHH E2X® 2,500,002 * 102 25,000
OYLETRTZLY o4
2,500,0002 * 109! 25,000
OABANEFE SLTL el
4,000,008 * 5¢! 20,000
=0 2HHO XL 55,000 51,000 4,000
301 LB A 40,000 41,000 A1,000
07 BIZHI=2l0iH] 30,000 36,000 6,000
O2FAIMET 0I24Ql 52l 04H|
3,000,0002 * 10¢! 30,000
10 BAE 243 10,000 5,000 5,000
O28, HSHAL HOILL, 2RSS A
10,0008 * 1021 * 103 10,000
307 Q1201 15,000 10,000 5,000
04 QIABALRE 15,000 10,000 5,000
O - SLLSABA FOIX
5,000,000%! * 33l 15,000
NI ITEPE 927,710 1,520,076 £592,366
Noisor Atz 927,710 1,520,076 ~592,366
Roisor Az 927,710 1,520,076 A592,366
201 Yer2g| 6,110 5,676 434
01 At 2ty 6,110 5,676 434
Oolge+gll] 3,870




SAHPIEEINY

PSR IIQ.*JH%*EDIUJEQ
CHel: XIHE O Al 2te] (&te &=
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
OXESotAIE 2|2 HOoIMEHTRED &
E] 774,0008 * 1CH * 53] 3,870
Ol=2gI] 2,240
OMAE2Y U sotAlg 2] E200AY]
7,0009 * 501 * 642 2,240
202 OdH] 21,600 14,400 7,200
01 2o 21,600 14,400 7,200
OXSBOAIG 22| SUARHUS
200,0002 * 991 * 123] 21,600
401 Al&H| L L2CHYI 720,000 1,200,000 480,000
01 Al&H] 720,000 1,200,000 480,000
OARD FOIME BOALY
19,200,000 * 30IHA 576,000
OARB X 2TAFY  18,000,0009 * 8 A 144,000
402 BIZHRH=0|A 180,000 300,000 A 120,000
01 QX=X 180,000 300,000 A 120,000
OARD FOIME BOALY
10,000,000 * 1200 A 120,000
OARS XSEHAIY  10,000,0008 * 60 A 60,000
ol 5l Hl 7,921,215 3,505,882 4,415,333
ol H] gl 7,921,215 3,505,882 4,415,333
oy dl 7,921,215 3,505,882 4,415,333
801 OilHIHI 7,921,215 3,505,882 4,415,333
01 oldlbl 7,921,215 3,505,882 4,415,333
Ol 7,921,215,00094 * 14l 7,921,215
Y SHHH| (I 2 ALAL) 86,014 79,934 6,080
Jl=2& 86,014 73,184 12,830
Jlaleg J|2aY| 33,007 23,177 9,830
201 LEr2YH| 16,067 15,877 190
01 AtR22t2lH] 14,356 14,196 160
Olgeta2H|] 11,500
ORAN2H SHAHA 11,500,000 » 14l 11,500
Ola2Hl] 2,856
ORAN2Y SHAHA  7,0008 » 62 * 68 2,856
02 222ZH| 1,711 1,681 30
O[22 2 HAll 360
ON3e2 30,0002 » 128 360
Ol¢ 2] 1,351
OBANEIE LIEAIE 2|
823.58 * 404 » 41 1,351




SN I 2AA
FE: HHEIZH (O 2ZAA)
s D23l (&9 HM
l:‘}\_l X xH C|—O|(;|j:”) }\-“C‘}\I.O'I HAXZ A} OH XI_-ILj—“:— 2JF
e co=m s IR ° _I_ [= Bl e (] 04”:"% o
202 O4Hl 8,840 6,840 2,000
01 =LA bl 8,840 6,840 2,000
FN2E SHAHL 8,840,000& = 14 8,840
203 HRF4Hl 7,500 0 7,500
01 JI22FHRF8| 3,300 0 3,300
OJ22Z =L 3,300,000& * 14 3,300
04 BEASSEHFRFEHI 4,200 0 4,200
ORAN2IHRF4HI 4,200,000& = 14l 4,200
405 AHoHESHI 600 460 140
02 EA-HI 600 460 140
OdENZA T A7 20,000& * 30 600
olatg e D123l 24,672 24,672 0
201 LBt 3| 17,832 17,832 0
01 AtS 22l 17,832 17,832 0
olger=gtl] 15,564
ORA2E SHAA 8,100,000& = 14 8,100
OcllOI & AUESIHI &
780,000& = 1CH * 53l 3,900
OdlOIdEZE Il EYH
356,400 = 1CH = 102l 3,564
ol=l] 2,268
FA2E SHA A  7,000& * 400 « 81 2,268
202 O4Hl 6,840 6,840 0
01 =AYl 6,840 6,840 0
ORAN2ZE SHAL 20,0008 * 321 » 114 6,840
ZALEE D123l 16,280 14,280 2,000
201 LEH2HH| 8,280 8,280 0
01 AtS22/Hl 8,280 8,280 0
Oolger=gtl] 4,500
ORANM2E SHH A 4,500,000& * 14| 4,500
Ol=&tl] 3,780
OFRN2Z SUHAL 7,0008 = 521 » 108 3,780
202 O4Hl 8,000 6,000 2,000
01 =LA bl 8,000 6,000 2,000
FN2E SHAHL 20,000& = 5¢! * 80 8,000
HRO Y JI=2Z 12,055 11,055 1,000
201 LetIH| 7,615 7,615 0
01 AtER22/Hl 7,615 7,615 0
Olger==gtl] 6,705
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SN I 2AA
FE: HHEIZH (O 2ZAA)
chel: Jl2&dl =L
l:‘}\_l X xH C|—O|(;|j:”) }\-“C‘}\I.O'I HAXZ A} OH @Lj_l‘:_ 2JF
e co=m s IR ° a [= Bl e (] 04”:"% o
ORMZ OH o & 2,835,000& = 14 2,835
OdiOIN ZetZelHIl &Y
774,000& * 100 = 53 3,870
Ol=tl] 910
ORME2E SHAY 7,0008 » 201 » 65 910
202 O4H| 4,440 3,440 1,000
01 WYl 4,440 3,440 1,000
FN2Y A& 20,0008 * 201 « 111 4,440
MRES (I 2ZALA) 300,000 250,000 50,000
28X& 300,000 250,000 50,000
XY &b 300,000 250,000 50,000
311 XML =01A 300,000 250,000 50,000
04 SLERXNLS0IA&e 300,000 0 300,000
OXlIZxHate oIkt 150,000,000& * 22 300,000
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